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1. Overall Description:

SA3 is in the study phase of ProSe WID (SP-130030) and has captured a number of solutions in TR 33.cde (to be assigned). 

One solution under consideration applies to restricted discovery. For a given UE, the information bits to be sent in the discovery frame are to change from announcement to announcement, in such a way so as to make it infeasible for a passive receiver to determine the original ProSe identifier that was provided by the upper layers to be used in discovery announcements.

Therein, the MAC layer applies a one-way hash function on two inputs: the ProSe identifier and an value that must be always changing but also be known to all UEs in proximity. We believe a parameter associated with a system time can meet this requirement. 

SA WG3 would like to ask RAN WG1:

- Can it be assumed that all UEs within discovery range of a given UE have the same notion of time with accuracy no worse than the discovery interval itself?

- What are the parameters of this time value: e.g. how many bits long it is, how often does it change?

- If the time value rolls over, can it be assumed that all UEs can keep track of a rough “wall-clock”, with which the time value can be augmented so as [practically] not to roll over at all? – i.e. O(years). 
If there is no such time value already available that satisfies the first and last requirements above, would it be possible to provide one.

Note: The above questions are applicable to both in and out of coverage scenarios.
2. Actions:

To RAN WG1.
ACTION: 
Please take note of the above and provide answers to the questions above.
3. Date of Next SA3 Meetings:
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